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function dx = eqn(x, t)

global P;

dx(1) = x(2);

dx(2) = -x(2) + x(1) - x(1)*x3;
endfunction
t=linspace( 0.0, 20.0, 200 );
initp=linspace( -2.0, 2.0, 10 );
all=[];
for i=1:10

sol = lsode( "egn",

all=[all, sol(:,1)];
endfor
xlabel("Time");
ylabel("x1");
plot(t,all);
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function y = F(x)

y = —-(x - x.%%3);
endfunction
x=linspace( -2.0, 2.0, 200 );
xlabel("x"); ylabel("F(x)"); grid;
plot(x,F(x));
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F(x)0ODODOOOOO z0000000OODOOOD

function y = F(x)
y = —(x - x.%*x3);
endfunction
n=5000; eps=le-3;
x=linspace( -2.0, 2.0, n );
fpo=[1;
for i=1:n
if ( abs(F(x(i))) < eps )
printf( "%e %e\n", x(i), F(x(i)) );
fp0 = [£p0, x(i)];
endif
endfor
save fp0O.dat fpO

0000000000000 n0OepsO0O00O0O0ODO)

-9.998000e-01 3.999600e-04
-4.000800e-04 4.000800e-04
4.000800e-04 -4.000800e-04
9.998000e-01 -3.999600e-04
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r=-1,0,100000000000000000000
oooooooooooooono

" 000000 000000000000 |F(z) <
10400000000000000000000000
00000Octave 000000 fsolve 00O 0000
0oooooo

load fpO.dat
dn=length(fp0) ;
function y = F(x)
y = —(x - x.%*x3);
endfunction
fp=[1;
for i=1:dn
fp(i)=fsolve("F", fp0(i));
printf( "%e %e\n", fp(i), F(£fp(i)) );
endfor
save fp.dat fp

ooooooooo

-1.000000e+00 -0.000000e+00
0.000000e+00 -0.000000e+00
0.000000e+00 -0.000000e+00
1.000000e+00 -0.000000e+00
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fp(i)=fsolve("F", fp0(i));
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load fp.dat #fp
fixp=fp; fp=[1; fp=fixp([1,2,4]1);
function A = jac( x )

A = [0, 1; 1-3*x**x2, -1];
endfunction
ev(l,:)=eig(jac(fp(1)))’;
ev(2,:)=eig(jac(fp(2)))’;
ev(3,:)=eig(jac(fp(3)))’;
fp’
ev
save fp_ev.dat fp ev

oooooo
> octave -q DufFixpEig.m
ans =
-1
0
1
ev =

-0.50000 - 1.32288i
-1.61803 + 0.00000i
-0.50000 - 1.32288i

-0.50000 + 1.32288i
0.61803 + 0.00000i
-0.50000 + 1.32288i

0000000 xz=-1,10000 —0.50000+1.32288:
oooooo00o0ooo0Oo00 2=00000 —-1.61803,
061803 0 00000C00ODODOOO0O0O0O0O0O0BOO
Duffng0 00000000

function dx = eqn(x, t)

dx(1) = x(2);
dx(2) = -x(2) + x(1) - x(1)*x3;
endfunction

t=linspace( 0.0, 20.0, 200 );
ipi=linspace( -0.6, 0.3, 10 );
ip2=linspace( -0.3, 0.6, 10 );
x=[]1; dx=[];
for i=1:10
sol = lsode( "eqn", [ip1(i); 0.4], t );
x=[x, sol(:,1)]; dx=[dx, sol(:,2)];
sol = lsode( "eqn", [ip2(i); -0.4]1, t );
x=[x, sol(:,1)]; dx=[dx, sol(:,2)];
endfor
xlabel("x");
ylabel("dot x");
plot(x,dx); pause;
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load fp.dat
global x p; p=-1;
function y = F(x,p)
y = p*x + X.*¥x3;
endfunction
function y = F_x(x)
global p;
y = F(x,p);
endfunction
parn = 101;
bifpar(1,:)=linspace(-1,-0.1,parn); # p
x0=£fp(1); bif(1,:)=[]; # result
for i=l:parn
p = bifpar(1,i); xO=fsolve("F_x", x0);
bif(1,i) = x0;
endfor
plot( bifpar(1,:), bif(1,:) );
function y = F_p(p)
global x;
y = F(x,p);
endfunction
pO = bifpar(1l,parn); # last param
x0 = bif(1,parn); # last fixp
bifpar(2,:)=linspace( x0, x0+1, parn ); # x
bif(2,:)=[]; # result
for i=1:parn
x = bifpar(2,i); pO=fsolve("F_p", p0);
bif(2,i) = pO;
endfor

plot( bifpar(l,:), bif(1,:), bif(2,:), bifpar(2,:) );

pO0 = bif(2,parn); # last param
x0 = bifpar(2,parn); # last fixp
bifpar(3,:)=linspace(p0,-1,parn); # p
bif(3,:)=[1; # result
for i=1l:parn
p = bifpar(3,i); x0=fsolve("F_x", x0);
bif(3,i) = x0;
endfor

plot( bifpar(l,:), bif(1,:), bif(2,:), bifpar(2,:),\

bifpar(3,:), bif(3,:) );
input ("hit any key");
fpset1(:,1) = [bifpar(1,:),bif(2,:),bifpar(3,:)]1’;
fpset1(:,2) = [bif(1,:),bifpar(2,:),bif(3,:)];
save fpsetl.dat fpsetl
plot( fpseti(:,1), fpsetl(:,2) ); pause;
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load fp.dat
global x p; p=-1;
function y = F(x,p)
y = p*x + X.**3;
endfunction
function y = F_x(x)
global p;
y = F(x,p);
endfunction
parn = 301;
bifpar(1,:)=linspace(-1,1,parn); # p
x0=£fp(2); bif(1,:)=[]; # result
for i=1:parn
p = bifpar(1,i); xO=fsolve("F_x", x0);
bif(1,i) = x0;
endfor
plot( bifpar(1,:), bif(1,:) );
input("hit any key");
fpset2(:,1) = bifpar(l,:)’;
fpset2(:,2) = bif(1,:)’;
load fpsetl.dat
plot( fpset1(:,1), fpset1(:,2), \
fpset2(:,1), fpset2(:,2) );
save fpset2.dat fpset2
pause;

s (0000000 OO0OO0OC0cOOObcOoOooOoboooo
ooooooooooOoooboOoOoobocOooooonono
ooooooooooo

load fpsetl.dat
load fpset2.dat
function A = jac( x, p )
A = [0, 1; -p-3*x**2, -1];
endfunction
function [s, ul = stab(fpset)
x_s = x_u=7p_s =p_u =[];
for i=1:rows(fpset)
p = fpset(i,1);
x = fpset(i,2);
ev_real = real(eig(jac(x,p)));
if ( ev_real(l) < 0 )
p_s=[p_s, pl; x_s=[x_s, x];
else
p-u=[p_u, pl; x_u=[x_u, x];
endif
endfor
s=[1; uw=I[];
if ( length(p_u) > 0 )
u=[u, [p_u;x_ull;
endif
if ( length(p_s) > 0 )
s=[s, [p_s;x_sl];
endif
endfunction

[s1,ul]l=stab(fpsetl);
[s2,u2]=stab(fpset2);
fpset_s=[s2,s1]; fpset_u=[ul,u2];
grid on;

xlabel("p"); ylabel("x");
plot( s1(1,:), s1(2,:), "1",\
s2(1,:), s2(2,:), "1",\
u2(1,:), u2(2,:), "2" ); pause;
Owd0O0D00000000000000000b0000D
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P(0) = det(Df(®)) = 0
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load fpsetl.dat; #DufContl.m
load fpset2.dat;
fps = fpsetl;
function A=jaco( x, p )
A=[0, 1; -p-3*xx*2, -1];
endfunction
p=fps(:,1); x=fps(:,2);
det_jac=[];
for i=1:rows(x)
det_jac(i) = det(jaco(x(i),p(i)));
endfor
ylabel("Determinant P(0)");
xlabel("x"); plot( x, det_jac ); pause;
xlabel("p"); plot( p, det_jac ); pause;
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